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The higher were below and the lower were above

OVERVIEW

701 11 the son of Yw* M passed out and (after his recovery) he told his father that
he observed (in 2’»w) an opposite world where 2°175%9 were nvn? and 75912 a*hnnn.
His father told him, ‘you saw a clear world’. *"w9 interprets 2°1nnnM 2°10°%Y as
referring to the rich and poor; NM501n offers a different perspective.
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The n''1 explained that the 21183 said that they have a tradition, each 39 (of the

2°11%3) from the mouth of a previous 29 -
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That the upside down world means, that yv373° "7 772 701 27 saw that Xnw

was sitting as a student before 777371> 29 his pupil. The reason this reversal took place is-
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Because 777 27 protested the conduct of YRy as related in 72772 722 po5 -
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Regarding that woman who came and screamed before Y812w and >xw paid

her no attention -
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7797 29 said to PX1W is not the master concerned for the 7105 which states, awIN
BT NPV MR, ete. Mk &9 8P X7 03 (one who closes his ear from the shout of the

poor, when he will call I will also not answer).

SUMMARY
XMW sat as a pupil before *"3 (in 2Ww) since °"1 protested the insensitivity of
XMW to the crying woman.

THINKING IT OVER
What are the relative advantages of *"w15 and 11"'15?

! This was the 71971 09 which he saw.

? See the X na there how X justified his action.

3 3,80 “wn.

* That is why in reality it was an 7112 0919, since 77 27 was sensitive to the cries of the woman while YXmw was
not, therefore > was accorded this honor in 2°»w, that his master YR sit before him as a pupil (see 0"7n).

TosfosInEnglish.com



